
Posição Peça Referência Type Qtde

 1  387614-01  CONJ.ROTOR 220V DW505 Tipo 5  1

 2  387745-02  CJ.ESTATOR RESINADO 220VDW505 Tipo 5  1

 3  1006250-00  CHAVE ELETRICA 220VDW508S Tipo 5  1

 CABO ELET.PINO RED.B2/BR

Mudou para: 184545-41

 5  184545-41  CABO ELETRICO DWD502BR /B2 Tipo 5  1

 6  330005-01  PROTETOR DO CABOELETRICO Tipo 5  1

 7  176829-00  PRENSA CABO DW511"SC" Tipo 5  1

 8  326467-00  DETENTE DW505 Tipo 5  3

 9  930026-01  CALCO DE ESPUMA DW508S/DW505 Tipo 5  1

 11  390005-08  CAIXA DE CAMPO DW505 Tipo 5  1

 12  390198-00  PARAFUSO M3.5 X 16MM T10ACO Tipo 5  2

 14  610142-02  COBERTURA CX.CAMPO Tipo 5  1

 15  330019-13  PARAFUSO M4.55 X 19MMT20 ACO Tipo 5  3

 16  065288-02  SUPORTE DA CHAVE Tipo 5  1

 18  936840-00  ESFERA DW511 Tipo 5  1

 ESFERA DE ACO

Mudou para: 936840-00

 19  330065-06  PARAFUSO M4 X 12MM T20ACO BZ Tipo 5  2

 ROLAMENTO CW 608 ZRS 8MMx22MMx7MM

Mudou para: 605040-08

 21  605040-08  ROLAMENTO 608Z 8MM X22MM X 7MM Tipo 5  1

 22  389824-00  PROTETOR DO ROLAMENTO DW511 Tipo 5  1

 23  402759-00  MOLA DO CARVAO Tipo 5  2

 24  390523-00  PORTA ESCOVA ESQUERDO DW511 Tipo 5  1

 32  401744-00  EIXO DE SAIDA DW505 Tipo 5  1

 33  931890-00  MOLA DE COMPRESSAO Tipo 5  1

 34  330019-14  PARAFUSO M4.55 X 25MMT20 ACO Tipo 5  1

 35  396614-00  PARAFUSO M4.55x55MM T20ACO Tipo 5  2

 36  401842-00  CONJ.CAIXA DE ENGRENAGEMNOSE DW505 Tipo 5  1

 38  932933-00  ARRUELA DW511 Tipo 5  1

 39  401741-00  CONJ.PINHAO DW505 Tipo 5  1

 40  628891-00  CONJ.SELETOR VELOCIDADESN.STRETCH Tipo 5  1

 41  619562-01  CONJ.MANCAL DW505 Tipo 5  1

 21  605040-06 Tipo 5  1

 5  185081-02 Tipo 5  1

 18  917725 Tipo 5  1



 40  628891-00  CONJ.SELETOR VELOCIDADESN.STRETCH Tipo 5  1

 41  619562-01  CONJ.MANCAL DW505 Tipo 5  1

 43  401750-00  CONJ.SELETOR DE IMPACTODW505 Tipo 5  1

 45  949638-02  PINO DE BORRACHA APOIOESTATOR Tipo 5  2

 47  930028-00  ANEL ORING 1.78MM X 11.11MM BORRACHA Tipo 5  1

 48  144803-00  ANEL RETENCAO DW505"SC" Tipo 5  1

 49  397239-01  ENGRENAGEM DUPLA DW505HAMPSTEAD Tipo 5  1

 52  945706-00  ATUADOR MOVEL DW505 Tipo 5  1

 54  000903-00  ESFERA DE ACO Tipo 5  1

 55  401847-00  ANEL ORING 1.78MMx53.7MMBORRACHA Tipo 5  1

 56  448847-01  PARAFUSO 1/4-28 LHX25MMT20 ACO MANDRIL Tipo 5  1

 57  185076-00  CONJ.DE CHAVE + MANDRIL1/2" Tipo 5  1

 CHAVE MANDRIL BHXX/DW5XX

Mudou para: 330034-07

 58  330034-07  CHAVE DO MANDRIL Tipo 5  1

 59  N155580  CONJUNTO DO MANGO DWD502SC Tipo 5  1

 CONJ.EMPUNHADURA DW511SC

Mudou para: N155580

 60  940357-00  HASTE METALICA DW511 Tipo 5  1

 61  176949-21  ESCOVA DW505 220V Tipo 5  2

 64  176811-00  DEFLETOR S/IMPACTON.STRETCH Tipo 5  1

 70  390524-00  PORTA ESCOVA DIREITO DW511 Tipo 5  1

 ANEL ORING 1.78MM X9.2MM BORRACHA

Mudou para: N568919

 72  N568919  ANEL ORING 1.78X8.20DW508S Tipo 5  1

 74  186279-00  ETIQUETA DEWALT Tipo 5  1

 76  176659-00  ARRUELA 6.45MM X 12.7MMX 0.5MM ACO Tipo 5  1

 77  050050-00  ANEL ORING 1.78MM X5.3MM BORRACHA Tipo 5  1

 59  939794-00 Tipo 5  1

 72  061145-00 Tipo 5  1

 58  183492-00 Tipo 5  1


